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1. FdAKE LT (1-3)

% B 7 =1 =
4 i) AR NI B B & i &
O+ Ti@ & T
Bl K i &% + T TR It 6100
1=158.0m | L=11.4m

11.40 = 1140 11.0
T A7z W T t=10cmPl F = 0.0
BHO.28m’ 6.91 = 6.91) 7.0
AL IR I LM A A t=10cmPl F = 0.0
HHIFA 5.26 = 5.26] 5.0
o A S 2 M & || N BHO.28m’ = 0.0
38.67 2.79 = 4146 41.0
% A s T {RAER = 0.0
LA 2.18 = 2.18] 2.0
B Bk #H = T BH0.28m* = 0.0
RC-40~0 1.61 = L6l 2.0
Mooam W R T BH0.28m3 = 0.0
FEMRIE AsI3 6.91 = 6.91] - 7.0
# = T t=3cm = 0.0
BHO0.28m3 _1-#) 3.08 = 3.08] 3.0
53 + AL # T 4t-2km = 0.0
BH0.28m’ As 0.21 = 0.21 0.2
7T A7 7 b iE T 2t=10km = 0.0
0.21 = 0.21 0.2
T AT 7 IV b B = 0.0
RC-40~0 3.49 = 349 3.0
S e &% A T t=5cm = 0.0




1. FdAKE LT (1—4)
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